—SONNE——
<7\
SIS

ASTON MARTIN
RACING

RACE CAR FOR SALE FORM - GENTLEVIEW INVESTMENTS
DBRS9

Car Details

Aston Martin Racing, Banbury, Oxfordshire, England, OX16 3ER
T 44 (0) 1295 754212 | £ enquiries@astonmartinracing.com | w: www.astonmartinracing.com Page 1 of 10



Aston Martin Racing, Banbury, Oxfordshire, England, OX16 3ER
T 44 (0) 1295 754212 | £ enquiries@astonmartinracing.com | w: www.astonmartinracing.com Page 2 of 10

 —— = —
———— sl N ———
NS
ZUNSS

ASTON MARTIN
RACING




Aston Martin Racing, Banbury, Oxfordshire, England, OX16 3ER
T 44 (0) 1295 754212 | £ enquiries@astonmartinracing.com | w: www.astonmartinracing.com Page 3 of 10

—SONNE——
<7\
SIS

ASTON MARTIN
RACING



ASTONN MARTY

= ASTON MARTIN i—ed

SN
SN

ASTON MARTIN
RACING

e




NS
NS

ASTON MARTIN
RACING

DBRS9

DBRS 9/26

GT3 SPECIFICATION
2010

INTERNATIONAL LE MANS CUP, ZHUHAI 2010

2"° GTC CLASS

THE CAR WAS USED FOR ONE RACE IN ZHUHAI ONLY WITH
AMR SUPPORT.

YES
PLEASE SEE ENCLOSED LIST
ZHUHAI, CHINA

GBP210,000.00

Contact Details

Car Owner | GENTLEVIEW INVESTMENTS LTD.
Contact Name | MR. PHILIP MA
Company Name = GENTLEVIEW INVESTMENTS LTD.
Contact Telephone Number | +852 25292936
Contact Email Address | Philipma@tsld.com

Address | 11/F TAl SANG BANK BUILDING, 130-132 DES VOEUX ROAD CENTRAL,
H.K.

Spares List

Aston Martin DBRS9 in 2010 FIA GT3 specification

Engine No. DBRS9 1031
Chassis No. DBRS 9/26
Kilometres: 1100km
HISTORY:

International Le Mans Cup, Zhuhai 2010 (2nd in GTC class)

enquiries@astonmartinracing.com | w: www.astonmartinracing.com




< J
— O —

SAUINSS

ASTON MARTIN

RACING
ENGINE
2009 GT3 specification V12 engine with increased power and torque
Baffled anti-surge wet sump
Pectel engine management system
Electrical throttle actuation
Tuned tubular exhaust manifolds with straight through rear exit exhausts
Airbox to increase airflow and improve engine performance
2009 engine oil cooling pack to reduce engine temperature & improve durability
TRANSMISSION
Twin plate AP Racing clutch
Sequential transmission-6-speed sequential gearbox with improved cooling
Xtrac endurance specification crownwheel & pinion
Endurance specification propshaft
Endurance specification driveshafts
CHASSIS
Standard DB9 bonded aluminium chassis
FIA safety rollcage
106 litre ATL fuel cell
Air jacks installed
Auto-Blip system
ADDITIONAL NON-STANDARD OPTIONS QTY.
GT1 TYPE HEADLIGHTS - WHITE 1
PI CLUBMAN DATA LOGGER 1
GT2 SPECIFICATION ENDURANCE BRAKE KIT 1
GT3 SPARES LIST
Part No Description Qty.
GT3 SPARES KIT AERO
R10/A0/001-A JABROC FLOOR EDGE, DRILLED, LH 1
R10/A0/002-A JABROC FLOOR EDGE, DRILLED, RH 1
R10/A1/021-A WING END PLATE HDO2 - LH GT3 1
R10/A1/022-A WING END PLATE HDO2 - RH GT3 1
R9/A3/007-B GURNEY, SPLITTER, LH 1
R9/A3/008-B GURNEY, SPLITTER, RH 1
R9/A5/003-A DIVEPLANE, 01, LH 1
R9/A5/004-A DIVEPLANE, 01, RH 1
GT3 SPARES KIT BODYWORK
#R10C121 RAD & OIL COOLER DUCT CPL ASSY 1

enquiries@astonmartinracing.com | w: www.astonmartinracing.com




R10/C5/029-A
R10/C5/030-A
R10Q-1K0-008-191-017
R10Q-9GH-152-654-007
R9/C5/318-A
R9/C5/319-A
R9/Q5/103-A

GT3 SPARES SUSPENSION

#R10D050
#R10D055
#R10D065
#R10DO070
#R10E045
#R10E050
#R10E055
#R10E065
#R10EQ70
4G43-3289-AA
4G43-5B551-AA
R3/D3/164-B
R3/D3/177-B

BUMPER, FRONT, FINISHED

BUMPER, REAR, FINISHED

HEADLAMP, HALOGEN 90mm, DBRS9
RUBBER SEALING CAP, HEADLAMP, DBRS9
FINISHED HEADLIGHT COVER LH
FINISHED HEADLIGHT COVER RH

SCREEN, POLY HEATED FRONT + WIRING

WISHBONE, FRONT LOWER LH
WISHBONE, FRONT LOWER RH
WISHBONE, FRONT UPPER LH
WISHBONE, FRONT UPPER RH

TOE LINK LH/RH 2009 SPEC

WISHBONE ASSY, REAR LOWER LH (Koni)
WISHBONE ASSY, REAR LOWER RH (Koni)
WISHBONE ASSY, REAR UPPER LH
WISHBONE ASSY, REAR UPPER RH
TRACK ROD END

TOE CONTROL ARM,REAR

WEDGE, WHEEL LOCKING MECHANISM
SCREW, WHEEL LOCKING DEVICE

GT3 SPARES BRAKES FRONT (GT2 SPEC)

ZZFR0330-DBRS-04
ZZFR0330-DBRS-09
ZZFR0330-DBRS-10
ZZFR0330-DBRS-18
ZZFR0330-DBRS-42
ZZFR0330-DBRS-43

HOSE, FRONT BRAKE TEE TO CYLINDER
HARDLINE, FRONT LH BULKHEAD TO TEE
HARDLINE, FRONT RH BULKHEAD TO TEE
HOSE, FRONT BRAKE RESERVOIR FEED
FRONT BRAKE B/HEAD TO CALIPER RH
FRONT BRAKE B/HEAD TO CALIPER LH

GT3 SPARES BRAKES REAR (GT2 SPEC)

R12H-09.8666.80
R12H-09.8666.70
R9H-A3.41.10.006
R9H-XA1.B6.30
XA1.B6.29
ZZFR0330-DBRS-03
ZZFR0330-DBRS-06
ZZFR0330-DBRS-07
ZZFR0330-DBRS-08

BRAKE DISC RH IRON REAR 332X32 GT2
BRAKE DISC LH IRON REAR 332X32 GT2
WASHER, IRON DISC MTG

NUT, IRON DISC MTG

BOBBIN, FRONT DISC MTG

HOSE, REAR BRAKE SWITCH TO CYLINDER
HARDLINE, REAR SWITCH TO BHEAD
HOSE, REAR BRAKE RH

HOSE, REAR BRAKE LH

GT3 SPARES ENGINE & ANCILLARIES

#R10L013
#R10L014
01E-500024
8G43-11000-AA

enquiries@astonmartinracing.com

ENGINE MOUNT ASSY LH
ENGINE MOUNT ASSY RH
SENSOR, LAMBDA (150MM) GT3
STARTER MOTOR ASSY

C

>
/4

ASTON MARTIN

RACING

www.astonmartinracing.com

= éS'lON MARTIﬂ ——
NS

A DRNONNRPRPRPRPNONRRPRER P PR NN R R

e e

e Sl

7



R10L-5R13-12405-BA
R10L-AP3183

GT3 SPARES EXHAUST

4G43-02738-AA
4G43-35-10025
4G43-35-10026
4G43-3962-CD
4G43-3962-FA
4G43-5E281-AA-PK
4G43-5N201-BC
4G43-5N201-CC
703121

703264
R9K-702432
ROK-RCO777

GT3 SPARES TRANSMISSIONS

4G43-4K228-AA
4G43-6068-AD
4G43-7TA564-AB
4G43-7TK391-AA
4G43-CD60-AE
6W83-4B423-AA
703187

703192

CP6444-26

#R10MO17
R12-0-253-17-16-51-010
R12-0-253-17-16-51-011
RON-701153
RON-701167
RON-701627
ZZFR0330-DBRS49
ZZFR0330-DBRS50

GT3 SPARES OIL SYSTEM
R10/P0/014-B

R10L-WTS0902
ZZFR0330-DBRS-36
ZZFR0330-DBRS-39

GT3 SPARES ELECTRICAL
R10/Q5/001-B

GT3 SPARES ENG COOLING

R10/S0/005-B

enquiries@astonmartinracing.com

SPARK PLUG VANQUISH-S
AIRFILTER 4"

M8 FLG HEX NUT - STAINLESS

EXH RUBBER MOUNT

RUBBER, EXHAUST MOUNTING
BRACKET,SUPPORT

BRACKET EXHAUST ISOLATOR
GASKET EXH MANIFOLD (PACK OF 2)
BRACKET,EXHAUST MOUNTING,LH
BRACKET,EXHAUST MOUNTING,RH
SCREW M8x20 HEX FLG 8.8

M6 x 16 SCREW HEX HDPP
BOLT-FLANGED HEAD

CLAMP, 2.5 INCH V, EXHAUST

PLT - DRV/SHFT CONST VELJT LK
HYDROMOUNT, TRANSMISSION
CLUTCH SLAVE CYLINDER

CLIP

SCREW M10X1.25 SKT CAP PTP
DRIVESHAFT HUB NUT

SCREW M8 x 25 HEX FLNG 10 CHROME FR
SCREW M10x40 FLNG 8 CHROME FREE
CLUTCH PLATE

CLUTCH ASSEMBLY

DRIVESHAFT LH GKN

DRIVESHAFT RH GKN

BOLT,M8

BOLT,M10X65

BOLT,M8X55

GEARBOX TO COOLER

COOLER TO GEARBOX

OIL COOLER ASSY

TEMP SENDER WEBER MK2
ENG OIL FILTER CENTRE
PIPE, ENGINE TO OIL COOLER

LOOM, MAIN CHASSIS

WATER RADIATOR MOD

C

w—— ASTON MAR

SSINSS

ASTON MARTIN

RACING

www.astonmartinracing.com

S —

12

-

P PNMNNEFEPEDNNDND D

[y
N

= O

PP NNNRE R RN OO

e

7



R10/S2/001-A
R10/S3/002-A
R10S-44-MB-475
R10S-44-STR-50/ECAP
R10S-44-STR-90
R10S-44/41-MB-750

GT3 SPARES FUEL SYSTEM

0580-254-044
R10T-KS183
R5/T5/039-A

GT3 SPARES WHEELS

#R9D020
R10U-18-022-005
R10U-18-022-006

GT3 SPARES TOOLS

#R9Z020
#R97031

OTHERS
R10U-18-022-005
R10U-18-022-006
R10/A5/023-A
R9H-09.8528.74
R9H-09.8528.84
R10L-4G4E-8620-AA
R12H-09.8666.80
R12H-09.8666.70
R12H-B1826170
R12H-B2429170

R9H-09.8528.84
R9H-09.8528.74
R12H-B2429170

R9Z-01A-034034

NI

R9H-09.8528.84

enquiries@astonmartinracing.com

WATER PIPE, UPPER

WATER PIPE, LOWER

HOSE, WATER, LH

BLANKING CAP, THERMOSTAT
CONNECTOR, STRAIGHT 1.75" ID
HOSE, WATER, RH

PUMP, BOSCH, HP
FUEL FILTER INLINE M14 ENDS
PUMP, MODIFIED, FUEL LIFT

WHEEL NUT
WHEEL, FR 12.5"x 18" AL RS9 C LOCK
WHEEL, RR 13"x 18" AL RS9 C LOCK

WHEEL NUT SOCKET ASSY
AIR JACK TAP ASSEMBLY

WHEEL, FR12.5" X 18" AL RS9 C LOCK
WHEEL, RR 13" X 18" AL RS9 C LOCK
SPLITTER BONDED, ASSY GT3

DISC, IRON, 72V LH FRONT

DISC, IRON, 72V RH FRONT

FEED DRIVE BELT

BRAKE DISC RH IRON REAR 332X32 G
BRAKE DISC LH IRON REAR 332X32 G
BRAKE PAD REAR GT2 CAR SET
BRAKE PAD FRONT GT2 CAR SET

DISC, IRON, 72V RH FRONT
DISC, IRON, 72V LH FRONT
BRAKE PAD FRONT GT2 CAR SET

BEACON TRANSMITTER, 32 CHANNEL

R10M-77-02504 - ENDURANCE PROPSHAFT

DISC, IRON, 72V RH FRONT

C

w—— ASTON MAR

SSINSS

ASTON MARTIN

RACING

www.astonmartinracing.com

S —

= L

I

P PR RPRPRRPRRREPAEDN

NN

7



R9H-09.8528.74
R12H-B2429170

RI9R-Z360-005

F1797-SAS964

F1070-SAS964-25.00

DISC, IRON, 72V LH FRONT
BRAKE PAD FRONT GT2 CAR SET

FIRE EXTINGUISHER

PROJECT MU F1797 TH=29mm 1980BREM

PROJECT MU F1070 SAS964 TH=25mm

TRANSPONDER
KIT RADIO DRIVER HELMET

enquiries@astonmartinracing.com

——— U A I ——
/NSRS
SIS

ASTON MARTIN
RACING

NN

[N

1 set
(4pcs front)
1 set
(4pcs rear)

1
1

www.astonmartinracing.com



